Here we have many dependent voltage sources, and we will draw new polarity indicators for each.
Each label will have its polarity terminal on top.

We see a sign mismatch for our first element, so we write a negative sign.

Then we evaluate 5*Vb, which is -10.

So our result becomes + 10V.

We have no sign mismatch in the second source, so we simply evaluate Va/3 = 1 V.

There’s no sign mismatch for the next source, so we evaluate –Vb / 4.

This becomes ½ V.

We negate the value of the fourth source and then multiply Vc by 100. This becomes -100 V.

The first of the bottom sources gets a negative sign because of a sign mismatch.

We then evaluate 50*Vb to get 100 V.

Proceeding in a similar manner for the other two sources, we find 15 V and 12 V for the last two sources.

